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Questions

The order of the matrix A is 3 x 5 and that of B is 2 x 3.The order of the matrix BA is

Which of the following is skew symmetric matrix

The square matrix A is skew-symmetric when At =

If the matrices A and B have the order 1 x 10 and 10 x 1 then order of AB is

The transport of a null matrix is

Question Image

Question Image

A matrix in which the number of rows is not equal to the number of columns is
called a

Trival solution of homogeneous linear equation is

Question Image

The matrix A is Hermitian when (A)' =

We also the system of non-homogeneous linear equations by

Question Image

We solve the system of non-homogeneous linear equations by

A square matrix A = [aij] is upper triangular when

Question Image

Twin matricae A and R ara rnanfarmahla far tho nradnnst AR Gf

Answers Choice

o

ow>

Uow» UOWP» UOWr UOmP

OO WP DOWP DOWP U0WP UOWr UOWr 00WF 00U

1x1

1x10
10x10
10 x1

Row matrix
Column matrix
Square matrix
Null matrix

Square matrix
Row matrix
Symmetric matrix
Null matrix

all are correct

Diagonal matrix
Rectangular matrix
Square matrix
Scalar matrix

o nou
o

Il

n =

X X X X

>

A
A

aandb
bandc
cand a
a,bandc

[All
None of these

aandb
bandc
canda
a,bandc

cij=0
bij = 0

aij =0 for alli &gt; j
dij=0

Both A and B are square
Both A and B are symmetric
Number of rows of A = number of columns of
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Question Image

Question Image

Question Image

Question Image

Matrix multiplication is

Question Image

If A and B are two matrices such that AB = B and BA =A, then A2+ B2=

In order of Alis m xn and order of B is n x p then order of AB is

Question Image

A non-homogeneous linear system AX = B has no solution if

Question Image

For any positive integer n

Question Image

Question Image

An equation of the form ax + by = k is homogeneous linear equation when

Question Image

Question Image

A=[3]is alan

B
A
C
D

A

B
D

ow>

ow» DOUR

UOwW» UOWr UOmP UO®WP UOWP U0Wr U0U» 00w

oow

oow» Dowy

. Hermitian matrix

. Symmetric matrix
. Identity matrix

(2x+atb+c)

(atb+c)
(atb+ctx)

1,2,3

2,5,8
3,6,9
Commutative

. Not associative
. Not distributive

. Scalar matrix
. Triangular matrix
. Identity matrix

2 AB
2BA

AB

mxm
nxn

pxm

Zero matrix
. Diagonal matrix

. Scalar matrix

|Al# 0

Rank (a) = no of variables
. Rank &gt; no of variables
9/4

1
. None of these

. ABn = Bn A& A,B are square matrices and
B =BA

.ABn=BnA® A+B

. ABn = BnA & A and B are square matries

. Symmetric
. Skew-symmetric

. Skew hermitian
abc

1/abc
. None of these

.b=0,a=0
a=0b#0
.b=-0,a#0

13

r
none

. Square matrix

. Diagonal matrix
. Identitv matrix
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If Ais a non singular matrix then A=

For a square matrix A, if A = At, then A is called

Question Image

If A = [ajj] is (m x n) matrix, then transpose of A is of the order

Cofactor of an element aij denoted by Aij is

For non-trival solution |A| is

Question Image

The matrix A = [aijjmxn with m#n is

Question Image

Question Image

A matrix in which the number of rows is equal to the number of columns is called a

Question Image

If the matrices A and B are conformable for multiplication then (AB)t=

(ABC) =

The transpose of a zero matrixis a

Let A be a square matrix. Then, 1/2 (A-A') is

Question Image

A. Matrix
B. Transpose

D. Non-symmetric

A. A(<span style="color: rgb(34, 34, 34); font-
family: &quot;Times New Roman&quot;; font-
size: 24px; text-align: center; background-color:
rgb(255, 255, 224);"><i>a</i></span>) -
A(<span style="color: rgb(34, 34, 34); font-
family: &quot;Times New Roman&quot;; font-
size: 24px; text-align: center; background-color:
rgb(255, 255, 248);"><i>B</i></span>)

B. A(<span style="font-family: &quot;Times New
Roman&quot;; font-size: 24px; color: rgb(34,
34, 34); text-align: center; background-color:
rgb(255, 255, 224);"><i>a</i></span>) +
A(<span style="font-family: &quot;Times New
Romand&quot;; font-size: 24px; color: rgb(34,
34, 34); text-align: center; background-color:
rgb(255, 255, 248);"><i>B</i></span>)

C. A(<i style="text-align: center;">a</i>-<i
style="text-align: center;">f</i>)

mxm
mxn
nxn

ow>

- (-2)i4
Mij

None of above

A=0
A<sup>t</sup>= 0

TOom» DOmP

None of these

Symmetric
Square
None

6,-12,-18
-6,4,9

DOm> DOW

-6, 12,18

Diagonal matrix
Rectangular matrix

w >

D. Scalar matrix

AB
A<sup>t</sup>B<sup>t</sup>

A<sup>t</sup>B

CBA'
CBA

None of these
Column matrix

Row matrix
Scalar matrix

DOowW» UOwW» DOWP

Symmetric
Null
. None of the above

1

OUP OUOw

3
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Question Image

Question Image

If A'is a skew-symmetric matrix of order n and P, any square matrix of order
n.prove that P' AP is

Question Image

System of linear equations is inconsistent if

If A'is singular then |A| =

Question Image

Question Image

Minor of an element ajjis denoted by

Question Image

(ABC) =

Question Image

If A'is skew Hermitian Matrix then which of the following is not skew Hermitian matrix

The order of the matrix [1 2 3] is

Question Image

A matrix with a single column is called

Question Image

Question Image

If order of A is m x n, then order of Alis

o

ow>

DOwP» DOWF UOP» 00D

DOmP» DOWP» DOW

oow

oow

-A
-1

none

Symmetric
Null
Diagonal

Scalar matrix
Null matrix

Symmetric matrix

System has one solution
System has two solution
None of above

1

2
None of these

. Null matrix
. Triangular matrix

. Rectangular matrix

3A -4l
A-1
None of these

A<sub>ij</sub>
Al
None of these

CBA'
CBA
CBA

B. Independent of a

oo

ow>

ow» Cowm

Om>» DO

Independent of b
Independent of ¢

A5
A3
A7

1x1
3x3
3x1

Identity matrix
Diagonal matrix
Null matrix

. Row matrix

Identity matrix
Null matrix

-A
A<sup>t</sup>
A<sup>-</sup>

mxm
nxn
mxn
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Trival solution of homogeneous linear equation is

Question Image

A square matrix all of whose elements except the main diagonal are zeros is called

a

Question Image

Question Image

Question Image

A square matrix A for which A= Ais called a

Question Image

Question Image

Question Image

Question Image

Question Image

Question Image

Matrices are represented by

Question Image

Question Image

If for the matrix A,A5 = 1,then A-1=

Question Image

Which of the following is an identity matrix?

An equation of the form ax + by = k is homogeneous linear equation when:

B. (1,2, 3)
C.(1,3,5)
D.a,bandc
A. Null matrix

B. Singular matrix
. Symmetric matrix

(@)

ODOU> DOW
o

. Column matrix

Skew-symmetric matrix
Row matrix

5
15

20

k3
0

DOm> DO®mP TOTP

k6

.2x2
2x3

w >

D.3x3

. Alower triangular matrix
. A diagonal matrix
. A null matrix

. Natural numbers
. Real numbers
. Small letters

Om>» OO

1,b=2
2,b=3

a =
a =
None of above

> Dow

a<sup>2</sup>b<sup>2</sup>c<sup>2</sup>
C. 4abc
D. None

A A2
B. A3

D. None of above
A. A<sup>2</sup>-5A+71=1

B. 2A<sup>2</sup>- 3A+71=0
C. A<sup>2</sup>-5A +1=0

D. none of these

R DRantanniilar matriv
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The matrix A = [aij]1xn is a

A and B be two square matrices and if their inverse exist the (AB)-1 =

Question Image

For trival solution [A] is

Question Image
Question Image

Question Image

Question Image

The number of non zero rows in echelon form of a matrix is called

Question Image

Question Image

Question Image

A square matrix A = [aij] is lower triangular matrix when:

Every identity matrix is

Question Image

If A = [aijjmxpand B =[aij]pxnthen order of BA is

Question Image

Question Image

If the trace of matrix A is 5, then the trace of the matrix 3A is

Question Image

Question Image

. I\UL:I.GIIHUIGI i auia
C. Column vector

D. Square matrix

A. A-1B-1

B. AB-1

C.A-1B

A A

C.A=0
D. None of these

Non-singular
Adjoint

None of above
Order of matrix

Row operation
None of these

At
-A

A1
Diagonal matrix

Triangular matrix
Identity matrix

DOT>» DOEP DOUP UOW

1x3
3x3
1x1

oow

bij=0
cij=0
dij =0
Row-vector

Column-vector
All

-a-b-c
1

-1
mxn

pxn
nxm

OWP CDOWP TOUP TOm

16
. None of these

oo

ow>
<y
I

> Dowp» DoOmP

3x2



113

114

115

116

117

118

119

120

121

122

123

124

125

126

127

128

129

130

131

132

Question Image

If there are m rows and n columns in a matrix then its order is

Question Image

Question Image

A square matrix A for which Al=-Ajs called a

For non-trival solution |A| is

A diagonal matrix is always

For trival solution |A| is

A diagonal matrix in which the diagonal elements are equal is called a

The transpose of a row matrix is a

If A and B are two matrices such that AB = B and BA = Athen A2 + B2 =

The transpose of a column matrix is a

Question Image

Question Image

Question Image

A square matrix A = [aij] is upper triangular when

The additive inverse of a matrix A is

If A'is a skew-symmetric matrix of order n and P, any square matrix of order n,

prove that P' AP is

Question Image

Question Image

ocow

@ >

o

COmP» DOWP DOUP» 0UOW

OW» TOW> DOWP

O DO®W» TOUP TOWP UOW

3x3
2x2

mxm
nxn
nxm

Column matrix
Symmetric matrix

Row matrix
A=0
IAl=0
At=0
Identity

Scalar
Non-singular

A

A=0
|Al# O

Null matrix
Identity matrix

Row matrix

Zero matrix
Diagonal matrix

Row matrix

2AB
2BA

AB
Zero matrix

Diagonal matrix
Column matrix

Involutary
ldempotent
Nilpotent

Diagonal matrix
Scalar matrix

Identity matrix
16

64
1024

Gij=0
bij=0
dij=0

None of these

Symmetric
Null
Diagonal

2s<sup>2</sup>
2s<sup>3</sup>
. s<sup>3</sup>
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System of linear equation is inconsistent if

Question Image

Matrices A = [aij] 2 x 3 and B =[bij] 3 x 2 are suitable for

Question Image

Question Image

Question Image

If for the matrix A, AS= |, then A”1=

Question Image

Question Image

Rank of matrix[1 3 5 0] is

A and B be two square matrices and if their inverse exist, the (AB)‘1=

Let Alis a 3 x 3 matrix and B is its adjoint matrix. If |B| = 64, then |A| =

If A'is any matrix then its additive inverse is

Cofactor of an element ajjis defined by

Question Image

For a square matrix A, if A = At, then A is called

Question Image

The transport of a rectangular matrix is a

The order of the matrix Ais 3 x 2 and that of B is 2 x 3. The order of the matrix BA

B. System has one solution
C. System has two solution
D. None of above

o

all

BA
A<sup>2</sup>

B<sup>2</sup>

0
1

10

OW> DOW> UOWP

>

2x2

3x2
3x3

oo

. A<sup>2</sup>
. A<sup>3</sup>

. None of above

.3,-3, 11

.-3,-3, 11

. K6
. 2K
.3K

A
B
D
A
C.-3, 3, -11
D
A
B
C
3
2
4
A<sup>-1</sup>B<sup>-1</sup>

AB<sup>-1</sup>
A<sup>-1</sup>B

Ow>» DO

A
A<sup>-1</sup>
A<sup>t</sup>

ow>

(-1)<sup>i+j</sup>|A|

(-1)<sup>i+j</sup>M<sup>-1</sup>
None of these

(2x4)

(2x3)
(7x2)

matrix
Transpose

Non-symmetric
-3

1

Square matrix

Row matrix
Column matrix

COU» DOWP» DOWP DOUF D0UP
o

3

3x2
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Question Image

The square matrix A is skew-symmetric when At=

A square matrix A = [aij] is lower triangular matrix when

Question Image

Question Image

A matrix with a single row is called a

The transport of a square matrixis a

If A'is a non-singular matrix then adj A is

Question Image

Question Image

The square matrix A is skew Hermitian when (A)'=

Question Image

Question Image

If A = |aij| is (m x n) matrix then transpose of A is of the order

If A and B are skew-symmetric then (AB)t is

The matrix A = [aijjmxn with m #n is always

Question Image

Question Image

Matrices A = [aij] 2 x 3 and B = [bij] 3 x 2 are suitable for

o0

w >

o

ocow

TOom>» TOmP

ComP» DOw

Ow» UOwWwp» COm» CTOWP DO

ow» oowp

2 x5
5x2

all are correct

B
-C

-D

aij = 0 for all i&lt;
bij=0

dij=0

Column matrix

Null matrix
Identity matrix

Row matrix
Column matrix

Null matrix
Symmetric

Singular
Non defined

A<sup>-</sup>
A<sup>t</sup>

P

[V]
1]
M
o
1]
N

nnu
NN

o ©
non
o
oo

mxm
mxn
nxn

At Bt
AB
-AB
BA

Symmetric
Hermition
. Skew-symmetric

A.BA

D

.B2



